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[ 3,865 0 3,865
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301 LBrE A2 8,700 9,000 A 300
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207 ¢ I 2ty 21,240 40,000 A 18,760
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AZE 21,240,000 21,240 40,000 A 18,760
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¥ 58X I el

Sl o ar2e] (cho &)
£ Y -HA(S) - NRMY - BES Ofl & oH JEH Hn&s2Z
O Oleh RFA EX 20,937 18,978 1,959
A === 43,0003 =1 x260 11,180 10,432 748
- FE2¢ 43,0003 *1H x522 2,236 2,087 149
— AZ2teIag 4,994 «1H x50Al 2tx 128 2,997 2,237 760
— dx=g 43,0002 *1H x152 645 602 43
- &0z 43,0002 *1H «260 «3/12& 2,795 2,608 187
— ZESOH 43,000 1 *21 x60%*2 & 1,084 1,012 72
201 et 57,042 61,300 A4,258
01 At 22l 57,042 61,300 A4, 258
O get==&H| 54,942 59,200 A4,258
— HHMEoLMN L2H(E)
2 & 40,242,000 40,242 44,500 A4,258
azs=2Y 942,050 989,000 246,950
ss=2Z 2 942,050 989,000 A 46,950
201 et 132,050 139,000 A 6,950
01 At 22l 132,050 139,000 A 6,950
O Zd2E Le=HI(2L)
238 93,050,000 93,050 100,000 A 6,950
202 oddl 475,000 500,000 A 25,000
01 SLHOIYI 142,500 150,000 A7,500
O 52424 $2 &8 g2 0HI(EZ)
238 92,500,000& 92,500 100,000 A7,500
03 =A LS 47,500 50,000 A 2,500
O g=22d iAEE HHI(EZ)
238 47,500,000 47,500 50,000 A 2,500
04 =X 204l 142,500 150,000 A7,500
O oie TEstHE ¢ Hdl(22)
23 142,500,000 142,500 150,000 A7,500
05 223 WAL 142,500 150,000 AT,500
O 25 UsSHHOI2Ns AL, M2NS
S)I(EZL) 2 & 142,500,000 142,500 150,000 A7,500
207 A RO H| 190,000 200,000 A 10,000
01 289 190,000 200,000 210,000
O =QTIYRFE g4 (2)
23 190,000,000 190,000 200,000 210,000
405 XH&HE S HI 95,000 100,000 A5,000
01 AL EFSFHSHI 95,000 100,000 A5,000
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23 95,000,000& 95,000 100,000 A5,000
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= 0 21,000 A 21,000
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= 0 21,000 A 21,000
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801 0l 8l 5,586,219 5,402,219 184,000
= 0 21,000 A 21,000
= 5,586,219 5,381,219 205,000
01 oilbl bl 5,586,219 5,402,219 184,000
O oldidl 5,586,219,000& 5,586,219 5,402,219 184,000
= 0 21,000 A 21,000
[ia 5,586,219 5,381,219 205,000
HE2AZH (D22 AA) 158,448 165,648 AT7,200
Jl=&dl 158,448 165,648 AT7,200
Jl2Zdl/oE 65,528 68,851 N 3,323
201 Let24E] 56,360 59,200 A2,840
01 AFR 22l 53,960 56,800 A 2,840
O Let=2HI(22) Z & 43,160,000 43,160 46,000 A2,840
203 ¥R =&l 7,017 7,500 A 483
04 EASIYRFLH| 3,717 4,200 A 483
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Z3 3,717,000& 3,717 4,200 A 483
l23tl/88 35,150 37,000 A 1,850
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01 = LHH HI 13,300 14,000 AT700
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Jl2 &gl /2 A 26,163 27,540 N1,377
201 €24 13,813 14,540 NT27
01 ArR 22l 13,813 14,540 NT27
O ge=2HI(22) Z & 8,773,000 8,773 9,500 ANT27
202 044l 12,350 13,000 A 650
01 SLHOYI 12,350 13,000 A 650
O g=2FX AHUI(E) 2 & 12,350,000 12,350 13,000 A 650
Jl2gHl /8RS A 12,350 13,000 A 650
201 L Er2A | 4,750 5,000 A 250
01 At 22l bl 4,750 5,000 A 250
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SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
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